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Sr Questions Answers Choice

1 Total estimated wheat production of the world is:
A. 734.80 million metric tons
B. 500million metric tons
C. 1000million metric tons
D. 200million metric tons

2 In the world, estimated area under cultivation is:
A. 5 thousand million hectares
B. 224.9 million hectares
C. 1000million hectares
D. 10,000million hectares

3 Wheat cultivated of this era, perhapes was first cultivated

A. In Egypt
B. In North-west of Pakistan &amp;
southern Afghanistan
C. In China
D. In Germany

4 For wheat production, the continent of Europe, produces world's
A. One-third wheat
B. 20 percent wheat
C. 40 percent wheat
D. Only 10 percent wheat

5 Which country ranks first in wheat production?
A. India
B. Russian Federation
C. China
D. U.S.A

6 In irrigated region of the world, wheat crop require:
A. 10 irrigations
B. 4 to 5 irrigations
C. Only 2 irrigations
D. Limited irrigations

7 For sowing one acre of wheat:
A. 40-60 kg seed is required
B. 100 kg seed is required
C. 30 kg seed is required
D. Only 20 kg seed is required

8 The continent of Asia, produces world's:
A. 20 percent wheat
B. About 45 percent wheat
C. 50 percent wheat
D. Only 15 percent wheat

9 Between latitudes of 25°-55°, cultivation of wheat is:

A. Very successful
B. Not very successful
C. Suitable
D. Suitable to some extent

10 In river basins and fertile grasslands, wheat crop:
A. Remains unsuccessful
B. Does well
C. May be sown
D. Cannot sown

11 For wheat crop, such type of soil is required, which:

A. Contain enough limestone &amp;
nitrogen
B. Contain sufficient amount of zine
&amp; potash
C. Contain enough moisture &amp;
phosphorus
D. Contain sufficient calcium
carbonate

12 In hot countries, for vegetative growth of wheat:
A. 20 inch annual rainfall is enough
B. 15 inch annual rainfall is enough
C. Sufficient rainfall is required
D. Very small rainfall is required

13 Which countries cultivate spring wheat?

A. Canada, U.S.A, China &amp;

Russia Federation
B. India, Pakistan &amp; Iran
C. Phillippines, Vietnam &amp;
Malaysia
D. Italy, Spain &amp; Portugal

A. 50 percent of the total wheat
hectarge
B. 90%of the total wheat hectarge



14 In the world, winter wheat hectarge is: B. 90%of the total wheat hectarge
C. 75%of the total wheat hectarge
D. Only 20%of the total wheat
hectarge

15 Total estimate wheat production of the world is:
A. 600 million metric tons
B. 500 million metric tons
C. 1000 million metric tons
D. 200 million metric tons


